Tfora

(3HTY - 13) (mﬂﬁa‘éﬁ?m)

(PET - VII)
PEICRIFEN
A1
FRafafad & o ga S
(i) 26 (ii) 93 (iii) 112 (iv) 54
3 1:
(i) 26=2x2x2xX2x2Xx2=64 (i) 93=9x9x9=729
(iii) 112=11x11=121 (iv) 5%=5x5x5x5=625
M 2:
fafafEa @ el 8 e Sifo:
(i) 6xXx6Xx6Xx6 (i)  rxt
(iii) bxbxbxb (iv) 5x5x7x7x7
W) 2x2xaxa (vi) axaxaxcxexexexd
IR 2:
(i) 6x6x6x6=6% (i) txt=r
(iii) bxbxbxb=>b" (iv) 5x5x7x7x7=52x73
v) 2x2xaxa=2>xa’ (vi) axaxaxexexcxexd=a'xc'xd
AR 3:
fRafafad e § @ yde &I urdier Yoo 8 oad Hifod:
(i) 512 (ii) 343 (iii) 729 (iv) 3125
IR 3:
(i) 512 2 51z
2 5
512=2x2x2x2x2x2X2x2%2=2? 2 128
2 64
2 32
2 16
2 8
2 4
2 2
1
(ii) 343 . =
7/ 49
843=7x7x7=73 ~ -
ik
3 729
3 243
(iii) 729 3 81
729=3x3x3x3x3x3=36 3 27
3 9
3 3
1




(iv) 3125

3125=5x%5%5X5X5 5 3125
5 625
5 125
5 25
5 5
MR 4: il
fFrafafea o @ ey H, Sef off Tya ), 51 T= & g
(i) 437734 (i) 5%@T35 (iii) 28ar82
(iv) 1002 7T 2100 (v) 2101102
3R 4:
(i) $3=4x4x4=64
34=3x3x3x3=81
ifF 64 < 81
ik, 43R 3+ W 3TN B
(ii) 53=5x5x5=125
35=3x3x3x3x3=243
TP, 125 <243
ek, 53R 35T 35T
(iii) 28=2x2x2x2x2x2x2x2=256
82=8x8=64
P, 256 > 64
e, 28 3R 82 7 289 B
(iv) 1002 = 100 x 100 = 10,000
2100=2x2x2X2X2X .14 IXX ......... x2=16,384x%x...x2
1P, 10,000 < 16,384 X ..o.... X 2
3k, 1002 3R 2100 F 2100 §EY B
) 2100=2%2x2x2x2x2x2x2%x2x2=1,024
102=10x 10 = 100
Fiifes, 1,024 > 100
3, 210 3R 102 H 210 TS I
R 5:
fafefad & @ e &) 39 U TUFES] Bt Ul & UG & ¥ § F5ad i
(i) 648 (ii) 405 (iii) 540 (iv) 3,600
W 5:
0] 648 =23x 34 2 648
2 324
2 162
3 81
3 27
3 9
3 3
1




(i)  405=5x3¢ 5 405
3 81
3 27
2 540 3 9
2 270 3 i
3 135
(iii) 540=22x33x5 3 45 2 3600
3 15 2 1800
5 i’ 2 900
2 450
3 225
3 75
(iv) 3,600=24x32x52 5 25
5 5
M3 6: 1
W?ﬁﬁﬂ!z
(i) 2x103 (i) 72x2? (i) 23x5
(iv) 3x44 (v) 0x102 (vi) 52x33
(vii)  2¢x32 (viii) 32x 104
3TN 6:

(()2x103=2x10x10x 10 =2,000
(iii)23x5=2x2x2x5=40
(v)0x102=0x10x10=0
(vii)24x32=2x2x2x2x3x3=144

(i) 72x22=7%7%x2x2=196
(iv)3x4*=3x4x4x4x4=768
(vi)53x33=5x5x3x3x3=675

(viii) 32x104=3x3x10x10x 10x 10 =90,000

(iii) (-3) x(-5)° (iv) (-2)'x(~10)'

(i) 4x1043x107

AT
A DI
M (-4) (i) (-3)x(-2)
I 7:
(i) (—4)’ =(~4)x(—4)x(-4) =64
(M (3)x(-2) =(3)x(2)x(-2)x(-2) =24
(i) (-3) x(=5) =(-3)x(-3)x(-5)x(-5)=225
(V) (=2) x(=10)" =(-2)x(~2)x(=2) x(~10)x(~10)x(~10)
AR 8:
fFrafafaa semsi #i ga Sif:
0] 2.7x101% 1.5 x 108
I 8:
0] 2.7x1012 3R 1.5 x 108

10 & 9TAl BT JA HA R,

(i) 4x10 3R 3 x1017
10 & 9Tl @1 ga H |,

2.7x1012>1.5x 108

4x10"%<3x10




Tford

(31T - 13) (AT AR °Te)
(PET - VII)

YTl 13.2

A1
grdie! & Fgwt &1 T R g, T T 3R IWR 3 Urdiey wu A fafae:
(i) 32x31x38 (ii) 65+ 610
(iii) a*xa’ (iv) 7'x7?
) (52)2 + 53 (vi) 25x55
(vii)  a'xb’ (viii) (3%)?
(ix) (220 + 215)x 23 (x) 8+8
3R 1:

(i) 32 x34 x38 = 3(2+4+8) = 3|.|
(ii) 615 +6]0 = 6]540 e 65

.. a"l xa" = a"l“‘"]
N am +au =am—n]
(lll) axat=a=d cad"xa = amm]

(IV) T X72 = 7'“2 . am Xa" - am-m]

n
- ( am) - amxn:l
= am _Lan =am-n]

ca" xb" =(a><b)"':|

(V) (52)3 +53=52\(3+53:56+53
= 56—.‘ = 53
(vi)  2°x5°=(2x5) =

(vii) a*xb' =(axb ) > a" xb" =(axb)'":|

wiil)  (3') =3%=3" (@) = a]
(ix) (2 +2%)x2* = (2* )2

= 25 %23 =% _ of
(X) 8 +82=8"2

.. al" x(lll — a"”'ll]

. am +an am—-n]

. . RABERLE J W ASFLLDeL el o)
. . . . . . . .

%ﬁﬁmﬁmmmwﬁmm;
o T W [oes]s
(i)  25'+5° (W) %
W & Vi) 243 a
(vii)  2°x3°x4° (viii) (30 +27)5"
w 3 9 (2o
(xi) % i) (2'x2)




IR 2:
(i)

(i)

(iii)

(iv)

W)

(vi)

(vii)

(viii)

(ix)

Px3nd 232 27x3

3x32 3x2° 3x2°
5 4
- 23:235 =255 53+

=2"%3" = 1x3* =3

[(52)3)(54]_!_57 =[56X54]+57
= [5«+4]+57 =557

- 5]0—7 = SJ

25" +5 =(5*)' +5° =54+ 5’
- 53-." =55
IxToll? BT x1l

21x1P 3x7x1P®
=3"x7' x11° = 7x11°

= 3l—l X 72—1 x1 18—3

37 37 37
e 2 3
=37 =3 =]

2°+3°+4"=1+1+1=3
2°x3"x4% =1x1x1=1

(3°+2°)x5% = (1+1)x1=2x1=2

. a"xa"
am s an

. o . .
g s

—

a

]

= (am )" _amn]
.‘ a"‘ xa" = a"“""]

. aln +an =am—n]

. al'l +a" =a"l—ll]

wa"xb" =(ax b)"':|

- am ;an . am—n]

. am Xa" =am+n]




(xi) —ZS:ZSZ =4 g xb* =4 %a’ xb [ a"+a"=a" ":|
= Ixa*xb=d’b [ a’ = ]
(xii) (2-‘x2) =|2 ) ( ) [+ a"xa" ma™]
=22 -9
M3 3:
sy & FafefEa Fu= I« § a1 3T auT A IR &1 HRU H e
(i) 10 x 1011 = 10011 (i) 23>52
(iii)  23x32=65 (iv) 30=(1000)°
IR 3:
(i 10x10" =100"
LHS. 10" = 10" AR RHS. (10°)" =10®
1P, LH.S. # RHS.
3(d:, I8 HUF A gl
(i) 2> 52
LHS. 2°=8 3R RHS. 5°=25

b, LH.S., RHS. TSI B
3, T8 HUF T 8
(i)  2°x3*=6’
LHS. 2'x3*=8x9=72 R RHS. 6'=7,776
1P, LH.S. # RH.S.
3k, T8 BYUT 3T gl

(iv)  3°=(1000)

LHS. ¥s1 3R RHS. (1000)' =
Fifd, L.H.S. = RHS.
3(cl:, U8 HYT I 2|
M3 4:
fafafad & @ yde & Had AU TUFES] P Ul & [UHEE S S H 6d HIT:
0] 108 x 192 (i) 270
(i)  729x 64 (iv) 768
IW 4: 2 108 2 192
(i) 108 x 192 2 54| | 2 96
3 27 2 48
3 9 2 24
108x192 = (2°x3')x(2x3) 3 3 ; 12
1
= 22+ﬁ x 33+I 3 3
= 28x3* 1




(ii) 270

270 = 2X3$X5 2 270
3 135
3 45
3 15
5 5
1
3 729 2 64
729 x 64 3 243 2 32
(iii) X o 3 81 = S
729 x 64 A b 47 3 27 2 8
3 9 2 4
3 3 2 2
1 1
2 768
2 | 384
2 192
(iv) 768 2 96
768 =2°x3 2 48
2 24
2 12
2 6
3 3
M3 5: T
TRA BT
(25)2"73 25x5% x¢* 3P x10° %25
0 “m= (i) =——— (i) 22 2=
8 x7 10° xt 5" %6
3R 5
N R
8'x7 (23)3><7
10 3
” 2 gx’/ = 2109 731 _ 272 =2 x 49 =98
2 X7
(ii) 25x5’ xt° xS %t
10° 1 (5x2)-‘,<,4
_ 52+2x'8—4 _ SJXIJ _ 54—3xt-‘ _ Stl
T 2x3  2’x§ 0 2 8
(i) Fx10°x25 _ 3'x(2x5) x5

5" x6° 57,<(2,<3)5
M g ol T e i o

Tx2x3F T x2x3 5 x2x3
= 2% %5? =1x1x1=1

= 25—5 x35—5 x5$—5




Tfora

(31T - 13) (ATAIS 31 UTe)
(PET - VIN)
UHTdat 13.3
A3 1:
FafafEa demsf o ol v § @
279404, 3006194, 2806196, 120719, 20068
SR 1:

(i) 2,79,404 =2,00,000 + 70,000 + 9,000 + 400 + 00 + 4
=2x100000+7x10000+9x1000+4x100+0x10+4x1
=2x10°+7x10* +9x10° +4x10> +0x10' +4 x10°

(ii) 30,06,194 =30,00,000+ 0+ 0 + 6,000 + 100 + 90 + 4
=3x1000000+ 0x100000+0x10000+6x1000+1x100+9x10+4x1
= 3x10°+0x10° +0x10* +6x10° +1x10* +9x10+4x10"

(iii) 28,06,196 =20,00,000 + 8,00,000 + 0 + 6,000 + 100 +90 + 6
=2x1000000+8x 100000+ 0x10000+6x1000+1x100+9x10+6x1
= 2x10° +8x10° +0x10" +6x10* +1x10% +9x10+6x10"

(iv) 1,20,719 =1,00,000 + 20,000 + 0 + 700+ 10 + 9
=1x100000+2x10000+0x1000+7x100+1x10+9x1
=1x10° +2x10* +0x10* +7x10* +1x10' +9x10°

(v) 20,068 =20,000+00+00+60+8
=2x10000+0x1000+0x100+6x10+8x1
= 2x10* +0x10° +0x10%> +6x10"' +8x10°

HR 2:

FrafifEd wafia =0 3 | vde & i Sen gm S
(@) 8x10%+6x 103+ 0x 102 +4x 101 +5x 100
(b)4x105+5x 103+ 3 x 102+ 2 x 100
(c) 3x10%+7x102+5x100
(d)9x105+2x102+3x10!

3TN 2:

(a) 8x104+6x103+0x102+4x10'+5x10°
=8x10000+6x1000+0x100+4x10+5x1
=80000 + 6000 +0 +40 +5
= 86,045

(b) 4x105+5x103+3x102+2x10°
=4x100000+0x10000+5x1000+3x100+0x10+2x1
=400000 + 0 + 5000 + 3000 + 0 + 2
=4,05,302

() 3x10+7x102+5x10°
=3x10000+0x1000+7x100+0x10+5x1
=30000+0+700+0+5
=30,705

(d) 9x105+2x102+3x10!
=9x 100000 +0x 10000+ 0x1000+2x100+3x10+0x1
=900000+0+0+200+30+0
=9,00,230




M3 3:

Fafeiea e & are U H ogad Bifere:
(i) 5,00,00,000 (i)  70,00,000
(iii)  3,18,65,00,000 (iv) 3,90,878
v) 39087.8 (vi) 3908.78
I 3:
(i) 5,00,00,000 =5x 1,00,00,000 = 5x10’
(ii) 70,00,000 =7x10,00,000 = 7x10°
(iii)  3,18,65,00,000 = 31865 x 100000
=3.1865 x 10000 x 100000 = 3.1865x10°
(iv) 3,90,878 =3.90878 x 100000 = 3.90878x10°
) 39087.8 =3.90878 x 10000 = 3.90878x10"
(vi) 3908.78 =3.90878 x 1000 = 3.90878x 10"
M3 4:

Fafafa syt o uee g arelt (39 arelh) TRemsit H 7Fe 9 § saag Sifo|
(a) geft 3R dgmn & ofta Bt gt 384,000,000 m B
(b) Aafa ® & T &t =1 (@1 37) 300,000,000 m/s &1
(c) Ut &7 4T 1,27,56,000 m B
(d) T &7 391 1,400,000,000 m 2|
(e) TP BT H 3Fa 100,000,000,0000 TR B
(f) fy Tsa (@1 ¥R Hs) 12,000,000,000 T8 QR Sewferd fovar mar g1

(g) SMEBTRATT & Hed | T B! 4 300,000,000,000,000,000,000 m 3BT &1 7 B
(h) 1.8 g YR aTelt Ut &1 U@ ¢ F 60,230,000,000,000,000,000,000 377 (molecules) B1d &1

(i) 9t ¥ 1,353,000,000 km3 % &It g |
(j) A 2001 H YR S} SHEEAT 1,027,000.000 At

I 4:
(a) Gt 3R 5 & o9 i gl = 384,000,000 m
=384 x 1000000 m
=3.84x 100 x 1000000
=3.84x10° m

(b) Fafd R A ys =@ = 300,000,000 m/s
=3 x 100000000 m/s
=3x10* m/s

(c) 32t &1 A =1,27,56,000 m
=12756x1000 m
=1.2756 x 10000 x 1000 m
=1.2756x10" m

(d) T &1 o =1,400,000,000 m
=14 x 100,000,000 m
=1.4x 10 x 100,000,000 m
=1.4x10° m




(e) U SMBTRAFT H 3 aR = 100,000,000,000
=1x100,000,000,000
= 1x10"

() fay Hea (@R Hsd) 3T 317 = 12,000,000,000 years
=12x1000,000,000 years
=1.2x10x 1000,000,000 years
=1.2x10" years

(g) eI A AP B g =300,000,000,000,000,000,000 m
=3x100,000,000,000,000,000,000 m
=3x10° m

(h) 1.8 g YR Tl Ul &1 T & A 37 = 60,230,000,000,000,000,000,000
= 6023 x 10,000,000,000,000,000,000
=6.023 x 1000 x 10,000,000,000,000,000,000
= 6.023x10%

(i) gt & 945 o/ =1,353,000,000 km?
=1,353 x 1000000 km?3
=1.353 x 1000 x 1000,000 km?
= 1.353x10° km3

() 7 2001 H HRd B STEE =1,027,000,000
=1027 x 1000000
=1.027 x 1000 x 1000000
= 1.027x10’






